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ECONOMICS
eI
(318)
Time : 3 Hours ] [ Maximum Marks : 100
qm ;3 U | [ qUifes : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted.

(iii) Section B’ has got more than one option. Candidates are required to
attempt questions from one option only.

Mewr : () 39 TH-79 ° g GUE §—EUS 3 qu1 @S 4 |
(i) w@ug ‘21 & At U H TA HEAT B
(i) @UE T HUF U Mk foehed T 1 wlieqiigi 1 et Uk foreked & & Ul % S A B

SECTION-A
Yus-3H
1. What is meant by market demand? 2
ISR A/ W Ahmm 27
2. If total revenue at 2 units of output is Rs 200, what is average revenue? 2

afe Ieared B 2 3HEA ¥ peA JFW 200 Fo B, A Aed Aww F# LM

3. How is net domestic product at factor cost obtained from gross domestic
product at market price? 2

AT T T ehel Be] 3cT1e o AT I WY {eiel Se] 3cdTq shel OTH fehaT STt & ¢
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4. Calculate gross value added at market price from the following : 2
(a) Value of output = Rs 1,500

(b) Intermediate consumption = Rs 700

Fffgd ¥ I9R FHmd T Ghd qod Jha i TIET i
(%) I 1 I = 1,500 %o
(@) wHeFadt 39T = 700 %o

5. What does ‘excess supply’ of a commodity mean? 2

Torelt arg ot “eAfafew Sgfd’ ® N AfE 27

6. How is the midpoint of a class interval obtained? 2

foreft anf et w1 weafseg S wmw foR ST 27

7. What are intermediate goods? 2

Head! awqd o Bt 87

8. If total variable cost for one unit is Rs 60, what is average variable cost? 2

I Th THE Al P INAd AFA 60 Fo 7, A G INEd] AT w27

9. State the law of demand. 2
i & fem o 3g@ il
10. Distinguish between consumer goods and producer goods. Give examples. S

o1 B ) B | Bt | o s 2 B 3| S D A I A R S
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11. What is government budget? State three features of a government budget. S

TLHR 1 o9 1 BT 8¢ TR o o hl o fomiwaret 1 sg@ Sifsd)

12. Explain the term ‘factor income’. Give two examples. S

e 3 e shi SArEd hifsl| &1 Iere |

13. Distinguish between substitute goods and complementary goods. Give
examples. S

TIMUE TEGA dA [eh a&gel § g HIfS | e i |

14. Explain the concept of domestic territory of a country: S

ToReT <91 o BRG] &1 Sl STIUNUT hi SRS hifer |

15. What is meant by economic planning? State any four objectives of economic
planning in India. S

e feem @ @ fimme 27 ama # enfde e & fedi =m e o sga
Hifer |

16. Following are marks obtained by 20 students of a class. Calculate the

arithmetic mean by direct method : 5
Marks (out of 100) : 40 S0 60 70
No. of students : S S 6 4

Th e § 20 fomiEt % g um o 9 e W 2 v fafy g st gren
T 3he IS -

graT% (100 H) . 40 50 60 70
faenfefat #t g@m . s 5 6 4
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17. Give three reasons why economic problems arise and explain them. 8

il T R/ I Bl 8, T dT RO AR qu IR SATEd hi |

18. What was the main objective of New Economic Policy of 1991? Explain the
terms fliberalization’, ‘privatization’ and ‘globalization’. 8

1991 #it 7€ anfde fifd &1 g T w0 oa? IR, TS U “mEuedier
9&l s AT His |

19. Explain any two measures that Reserve Bank of India can adopt to decrease
money supply. 8
tE Rl &t Ul W ATen HiSE S vRdE fee o ga hicdfd § e % fag
YT Tkl 2

20. Distinguish between primary and secondary data. List two methods of
collecting primary data and give two sources of secondary data. 8

ot don fadfes eriwel # 9 Aifd )| mafis ke i = f @ faftet i g
FEd ot fediaes etfenel & &t 9 ffie |
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SECTION-B
Qus—d

OPTION-I
faereu—1

( Role of Agriculture and Industry in India’s Economic Development )

( s 3 onfrw Fera i F ofv e A v )

21. Given that 50 quintals of wheat are produced on 2 hectares of land. What is
the productivity of land?

afe qftr & Rt 2 FRW g W 50 fohed T 1 Ieqed B B, @ qfw A Seomaewa
F 27

22. State and explain briefly any two factors affecting industrial growth. 5

Tefier fam & gaTfad o 9T s a1 e faRgd dem &89 H 3 el it |

23. Explain any four ways how the industrial sector is dependent on the
agricultural sector.

fordt =m qfient 30 e A & i & FfY aw = frm v et 2

OPTION-II
IEET |

( Population and Economic Development )

( ST 3R enfefew forsmma )

21. What is meant by dependency ratio?

LR EE RG22 114 1 S
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22. Why has the density of population in India been increasing? Explain. S

IR § A % ¥ # gfg F= a W R7 awend|

23. Describe the effects of population growth on natural resources of a country. 8

foRelt ST % WTRfeh HETEAT W SHEEA-ghg o YNTEl 19U iR |

* Kk Kk
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